

                                  -120 Multiple Choice Question
	1. 
	Which of the following storage media does not allow random access of data?

A. RAM

B. ROM

C. CD-ROM

D. tape

E. hard disk                      (1997 MC No.1)


	

	2. 
	Computers on a local area network can be connected in the form of a 

  (1) bus network

  (2) ring network

  (3) star network

A. (3) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)                  (1997 MC No.2)


	

	3. 
	The integer -32 is the smallest integer that can be represented in a 

A. 4-bit two’s complement representation.

B. 6-bit two’s complement representation.

C. 7-bit two’s complement representation.

D. 8-bit two’s complement representation.

E. 16-bit two’s complement representation,

(1997 MC No.3)


	

	4. 
	In an encryption scheme, each character is changed to a new character such that

ASCII of the new character = (the ASCII of the original character – 30) X 2

After encryption, the word ‘AXE’ will become

A. FtN

B. dLz

C. ABJ

D. cTK

E. VWa                          (1997 MC No.7)


	

	5. 
	Mr Lee has a microcomputer at home which contains a lot of computer games. To prevent his daughter from using the computer and spending too much time on computer games, Mr Lee can make use of a 

A. keyword.

B. key field.

C. check digit.

D. parity bit.

E. password.                     (1997 MC No. 9)


	

	6. 
	Which of the following input devices is most suitable for blind people to use?

A. a mouse

B. a joystick

C. a voice input device

D. a device for reading hand-written input

E. a touch screen                 (1997 MC No.10)


	

	7. 
	Which of the following controls the allocation and usage of hardware resources?

A. a debugger

B. a disk drive

C. arithmetic and logic unit

D. read only memory

E. an operating system             (1997 MC No.13)


	

	8. 
	Which of the following is not a peripheral device?

A. keyboard

B. visual display unit

C. modem

D. random access memory (RAM)

E. disk drive                      (1997 MC No.14)


	

	9. 
	Which of the following is/are reason(s) for connecting computers to form a network?

  (1) to share devices

  (2) to allow users to communicate with each other

  (3) to allow users to transfer data to and from each other

A. (3) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)                 (1997 MC No.16)


	

	10.  
	The maximum address (in binary) that can be held in 16 bits is 

1111

1111

1111

1111

0000

0000

0000

0001

1111

1111

1111

1110

0111

1111

1111

1111

1000

0000

0000

0000

(1997 MC No.23)

	

	11. 
	AGE is a field of a database file STUDENT. AGE stores the students’ ages. AGE cannot be used as a key field of STUDENT because

A. AGE has to be updated every year.

B. AGE is a numeric field.

C. AGE can be replaced by date of birth.

D. different students may be of the same age.

E. Students with the same name may be of different ages.

(1997 MC No.24)


	

	12. 
	If X=4, what is the output of the following algorithm?

Assign zero to S

While S is less than X, do the following:

Calculate Y = S + X/2 +1

Assign the value of Y to S

Output S

A. 2

B. 3

C. 4

D. 5

E. 6

( 1997 MC No.27)


	

	13. 
	Which of the following computer applications must involve the use of personal data?

A. a computer assisted learning program

B. a payroll system

C. a computer game

D. a computer simulation

E. an electronic bulletin board       (1997 MC No.29)


	

	14. 
	In a certain computer, integers are represented in 4-bit two’s complement form. overflow error will occur in the calculation of A + B if

A. A = 0110 and B = 1100

B. A = 1110 and B = 0101

C. A = 0011 and B = 0110

D. A = 0001 and B = 1111

E. A = 0001 and B = 0011                            
(1997 MC No.30)


	

	15. 
	Below are different stages in a data processing cycle:

1  input of data

2  processing of data

3  collection of data

4  collection of data

5  output of information

Which of the following gives the correct order of stages?

A. 3(1(4(2(5

B. 3(1(2(5(4

C. 4(1(2(3(5

D. 4(3(1(2(5

E. 4(1(2(5(3                                  
(1997 MC No.32)


	

	16. 
	Suppose the format DDMMYY is used to represent dates (i.e. a date is represented by a string of six digits in which the leftmost two digits give the day, the middle two give the month and the rightmost two give the year).

Which of the following is an invalid date?

A. 070696

B. 210809

C. 300330

D. 022188

E. 110986                                       
(1997 MC No.35)


	

	17. 
	program Q36;

begin

  writeln(ord(‘B’))

end.     
A. 42

B. 64

C. 66

D. 68

E. 98                                            
(1997 MC No.36)

	

	18. 
	program Q37;

begin

  writeln(trunk(2.581*10+1))

end.
A. 21

B. 25

C. 26

D. 26.81

E. 27                                            
(1997 MC No.37)


	

	19. 
	program Q38;

var A, B:integer;

begin

 A:=14;

B:=7;

If A<B

  then writeln(A, ’<’, B)

 else writeln(B, ‘<’, A)
end.
A. 7<14

B. 14<7

C. A<B

D. B<A

E. B<14                                            
(1997 MC No.38)


	

	20. 
	program Q39;

var k:integer;

   a: array[1..20] of integer;

begin

  for k:=1 to 20 do a[k] :=k*2+1;

  for k:=2 to 20 do a[k] :=a[k-1]+a[k];

  writeln(a[5])

end.
A. 11

B. 13

C. 20

D. 24

E. 35 (1997 MC No.39)


	

	21. 
	program Q40;

var  k:integer;

a:integer;

begin

  k:=99;

  a:=2;

  repeat

    a := a+4

  until a>k;

  writeln(a)

end.
A. 99

B. 100

C. 101

D. 102

E. 103 
(1997 MC No.40)


	

	22. 
	program Q41;

var A, B:string;

begin

  A:=’ABCDEFGH’;

  B:=’ABC’;

  while length(B)<=length(A) do

    begin

      A:=A+‘M’;

      B:=B+’MM’

    end;

  writeln(A)

end.
A. ABCDEFGHMM

B. ABCDEFGHMMM

C. ABCDEFGHMMMM

D. ABCDEFGHMMMMM

E. ABCDEFGHMMMMMM 
(1997 MC No.41)

	

	23. 
	program Q45;

var h, k, s :integer;

begin

  s:=0;

  for h:=1 to 3 do

    for k:=3 downto 1 do

      s:= s+h+k;

  writeln(s)

end.
A. 24

B. 30

C. 33

D. 36

E. 39 
(1997 MC No.45)


	

	24. 
	program Q43;

var A, B:integer;

procedure SWAP(C, D:integer);

var T:integer;

begin

  T:=D;

  D:=C;

  C:=T

end;
begin

  A:=1;

  B:=2;

  writeln(A, ‘  ‘,B);

  SWAP(A,B);

  writeln(A, ‘  ‘,B)

end.
A. 1  2

2  1

B. 1  2

1  2

C. 2  1

2  2
D. 1  1

1  1

E. 1  1

2  2 
(1997 MC No.43)

	

	25. 
	If a human being is viewed as a computer, the human brain will be…
A. the disk drive

B. a mouse

C. a scanner

D. the visual display unit

E. the central processing unit
 (1998 MC No,1)


	

	26. 
	How many kilobytes (KB) are there in two megabytes (MB)?

A. 200

B. 512

C. 1024

D. 2048

E. 4096
(1998 MC No.2)
	

	27. 
	What is the least number of bits required for representing a character set of 30 characters?

A. 3

B. 4

C. 5

D. 6

E. 7 
(1998 MC No.3)


	

	28. 
	Which of the following binary numbers has its two’s complement equal to itself?


	

	29. 
	A.

11110000
B.

10000000
C.

00000001

D.

10000001

E.

11111111

(1998 MC No.5)


	

	30. 
	Which of the following networks is a star network?

                                         

   A.

  C.

  E.

(1998 MC No.13)


	

	31. 
	What is the main disadvantage of using a CD ROM for storage?

A. The user cannot update its contents.

B. It is a volatile memory.

C. It has a low data transfer rate.

D. Its rotational speed is unstable.

E. It can only store graphical images. 
(1998 MC No.4)


	

	32. 
	A computer terminal requires each user to key in a user-name and a correct password before logging on. the purpose of this is……
(1)   to prevent unauthorized persons from using the computer.

(2)   to identify the user.

(3)   to check the possibility of virus infection.

A. (1) only

B. (2) only

C. (1) and (2) only

D. (1) and (3) only

E. (1), (2) and (3)

(1998 MC No.14)


	

	33. 
	As a validation check for a five-digit number ‘ABCDE’, a digit F is added at the end of the number such that

        A+B+C+D+E+F is an integer divisible by 10.

The above validation check is unable to detect the error when 30201(4) is wrongly entered as ……
A. 30201(3)

B. 40201(4)

C. 30200(4)

D. 03201(4)

E. 30211(4) 
(1998 MC No.19)


	

	34. 
	Which of the following statements does not apply to direct access files?

A. Records can be accessed sequentially.

B. File will be very efficient if only a small number of records need to be changed.

C. Files can be stored on a magnetic tape.

D. Retrieval of records is fast.

E. they are often used for large database application.     
(1998 MC No.21)


	

	35. 
	Which of the following fields of student records can be used to identify a particular student?

A. date of birth

B. student name

C. telephone number

D. student number

E. any one of above
(1998 MC No. 22)


	

	36. 
	‘Data are stored for a period of time before they are process altogether in a separate operation.’ This sentence describes……
A. real-time processing.

B. Batch processing.

C. On-line processing.

D. Interactive processing.

E. On-line non-interactive processing. 

(1998 MC No.24)


	

	37. 
	Mr A sends some important data to Mr B by electronic mail. In order to prevent other people from reading the data, the data should be ___ before being sent.

A. verified

B. compressed

C. encrypted

D. validated

E. digitized 
(1998 MC No.26)


	

	38. 
	Which of the following persons does not have a right to privacy?

A. a prisoner

B. a child under 12 years old

C. a patient living in a hospital

D. a pop singer

E. All of the above persons have a right to privacy.         (1998 MC No.27)


	

	39. 
	Which of the following does not normally require the use of a CD ROM drive and a sound card?

A. Running interactive presentation software

B. Running educational software for kids

C. Pascal programming

D. Playing computer games

E. Playing VCDs (video compact disks) 

(1998 MC No.30)


	

	40. 
	In a local area network where one printer serves several computers, the printing jobs of the printer will most likely be executed……
A. simultaneously.

B. On a time-sharing basis.

C. On a random basis.

D. On the first-come-first-serve basis.

E. On the last-in-first-out basis.

(1998 MC No.31)


	

	41. 
	program Q36;

begin

  writeln(trunk(squt(17)))

end.

A. 3

B. 4

C. 5

D. 6

E. 7 
(1998 MC No.36)

	

	42. 
	program Q37;

begin

  writeln(chr(66))

end.

A. H

B. E

C. C

D. A

E. B
 (1998 MC No.37)

	

	43. 
	program Q38;

begin

 writeln(123.4567:2:2)

end.

A. 123.5

B. 123.4

C. 123.46

D. 123.47

E. 123.44 
(1998 MC No.38)


	

	44. 
	program Q40;
var a:integer;

begin

  a:=2;

  repeat

    a:=a*2

  until a > 1000;

  writeln(a)

end.

A. 136

B. 765

C. 982

D. 1130

E. 1024
(1998 MC No.40)


	

	45. 
	program Q41;

var k:integer;

  x:string;

begin

  x:=’ABCDEFG’;

  k:=length(x);

  while k> length(x)-3 do

  begin

    write(copy(x, k, 1));

    k:=k-1

  end

end.
A. AFB

B. GFE

C. GHC

D. BJE

E. FGH

(1998 MC No.41)


	

	46. 
	program Q42;

var x:integer;

begin

  x:=100;

  if x>100 then

      write(‘A’)

  else

      if x>75 then

        write(‘B’)

      else

        write(‘C’)

end.
A. A

B. B

C. C

D. D

E. E 
(1998 MC No.42)

	

	47. 
	program Q39;

var k:integer;

  a:array[1..10] of integer;

begin

  for k:=1 to 10 do a[k]:=20 mod k;

  for k:=1 to 9 do

    if a[k]> a[k+1] then writeln( a[k] )

end.

A. 2

6

4

2

B. 1

3

4

5

C. 2

4

3

1

D. 1  2  4  8 

E. 1

2  4

5 
(1998 MC No.39)


	

	48. 
	program Q43;

var x:integer;

begin
x:=73;

case x div 10 of

9, 10: writeln(‘H’);

7, 8 : writeln(‘K’);

6, 5 : writeln(‘G’);

4, 3 : writeln(‘M’);

0,1,2: writeln(‘P’);

  end

end.
A. H

B. J

C. K

D. M

E. F 
(1998 MC No.43)

	

	49. 
	What kind of software is used with image scanners to convert text images into text that can be processed by word processing software?

A. spreadsheet

B. optical mark recognition

C. optical character recognition

D. database

E. graphics 
(1999 MC No.1)

 
	

	50. 
	Which of the following error-detection methods requires that the total number of ones be divisible by two?
A. Parity bits

B. Even parity

C. Odd parity

D. Check digit

E. Control total

(1999 MC No.3)


	Even parity ensures that there is an even number of ones, i.e. divisible by 2. 
∴The answer is B.


	51. 
	Which of the following is the sequence of the data processing cycle?
A. Input ( Processing ( Output

B. Processing ( Input ( Output

C. Processing ( Output ( Input

D. Input ( Output ( Processing

E. Output ( Processing ( Input

(1999 MC No.5)


	

	52. 
	The decimal quatity represented by binary 1001 is ____.
A. 1001

B. 17

C. -7

D. 9

E. 2

(1999 MC No.9)


	

	53. 
	Which of the following is/are advantage(s) of optical fiber over co-axial cables?
  (1) substantial size savings

  (2) increased speed of transmission

  (3) ease of installation

A. (1) only
B. (2) only

C. (1) and (2) only

D. (1) and (3) only

E. (1), (2) and (3)

(1999 MC No.17)


	

	54. 
	The computerized admissions system of a kindergarten discovered that an applicant was 64 years old and an exception report was generated to alert the admissions officer. What validation testwas used to detect the error?

A. A data type check

B. A range check

C. A field-length check

D. A control total

E. A check digit

(1999 MC No.18)


	

	55. 
	Which of the following is not a benefit of using computers in office?

A. A higher degree of accuracy

B. A higher speed

C. A greater storage capacity

D. A greater reliability

E. An absence of error

(1999 MC No.19)


	

	56. 
	Which of the following devices is both an input and output device?

A. keyboard 

B. bar-code scanner

C. floppy disk drive

D. joystick

E. printer

(1999 MC No.15)


	

	57. 
	Which of the following is/are included in updating a data file?

  (1) adding new data

  (2) changing existing data

  (3) deleting obsolete data

A. (1) only

B. (2) only

C. (1) and (2) only

D. (2) and (3) only
E. (1), (2) and (3)

(1999 MC No.21)


	

	58. 
	When records in a file are retrieved one record after anothetr in the same order as the records are stored, the access method is _______.
A. random access

B. direct access

C. sequential access

D. immediate access

E. None of the above

(1999 MC No.22)


	

	59. 
	Which of the following tasks would be most effciently performed using batch processing?
A. updating bank accounts

B. providing airline flight information

C. searching for product information

D. calculating payroll

E. booking theatre tickets

(1999 MC No.23)


	

	60. 
	How many bytes of data can be transferred at a time by a 64-bit data bus?
A. 4

B. 8

C. 16

D. 64

E. 128

(1999 MC No.27)


	

	61. 
	How many non-negative numbers can be represented by 4 bits using sign and magnitude representation?
A. 4

B. 8

C. 9

D. 15

E. 16

(1999 MC No.28)


	

	62. 
	program Q36;

begin

  writeln(trunk(sqr(sqrt(64))));
end.
A. 2

B. 4

C. 8

D. 64

E. 4096
 (1999 MC No.36)

	

	63. 
	program Q37;

var a, b, c : integer;

begin

  a:= 20;

  b:=10;

  if a = b then

    c := a

  else

    c := b;

  writeln(a, b. c);

end.
A. 201010

B. 101010

C. 201020

D. 102010

E. 202020
(1999 MC No.37)

	

	64. 
	program Q38;

var x, y : integer;

begin

   x:=10;

   y:=3;

   while (x > 0) and (y > 0) do

     x:= x-y;

   writeln(x)

end.
A. 1

B. 2

C. –1

D. –2

E. 0
(1999 MC No.38)


	

	65. 
	program Q40;

var s, j : integer;

begin

  s:=0;

  for j:= 5 downto 1 do

    begin

      write(j);

      s:= s + j

    end;

  writeln(s);

end.
A. 12345

B. 1234515

C. 5432115

D. 5432121

E. 1234521
(1999 MC No.40)

	

	66. 
	program Q39;

var a, b, c, d :integer;

begin

  a:=5; b:=3; c:=99; d:=5;

  if a > b then 

    write(‘B’);

  if b = c then

    begin

      write(‘D’)

    end;

  if b <> c then write(‘E’) else write(‘F’);

  if a >= c then write(‘G’) else write(‘H’);

  if a <= d then

    begin

      write(‘I’);

      write(‘J’)

    end

    end.
A. BEHIJ

B. BEGIJ

C. BDEG

D. DEGIJ

E. EGIJ
(1999 MC No.39)

	

	67. 
	programQ41;

var numbers : ARRAy [1..5] of integer;

begin

  numbers[1] := 7 ;

  numbers[2] := 13 ;

  numbers[3] := numbers[2] -1 ;

  numbers[4] := numbers[3] DIV 3 ;

  numbers[5] := numbers[3] DIV numbers[4] ;

  writeln(numbers[5])

end.
A. 4

B. 12

C. 13

D. 7

E. 3 (1999 MC No.41)

	

	68. 
	Which of the following is considered a computer crime?

A. Selling “Freeware” downloaded from the Internet

B. Downloading “Freeware from the Internet

C. Using a computer in a public library to log onto the Internet

D. Making a fund transfer through the Internet

E. Backing up data files downloaded from the Internet       
(2000 MC No.2)


	

	69. 
	Given three two’s complement 8-biyt integers X, Y and Z such that Z = X + Y, where Y is the one’s complement of X. What is the value of Z in decimal?

A. -127

B. -1

C. 0

D. 255

E. 127  
(2000 MC No.4)


	

	70. 
	In the following diagram, bits 1 to 7 are used to store the ASCII code of a character and bit 0 is the odd parity bit.


Which of the following bit patterns represents the character ‘U’ ?

A. 1110 1010

B. 1010 1010

C. 0101 0101 

D. 1101 0101

E. 1010 1011 
(2000 MC No.5)


	

	71. 
	Which of the following mode of processing systems can respond quickly to some external events?

A. Time sharing

B. Batch

C. Real time

D. Multitasking

E. Interactive                                       
(2000 MC No.8)


	

	72. 
	Records in a random file are stored…
A. in a location assigned by an addressing algorithm.

B. in a location assigned by a random number generator.

C. in any empty location.

D. in the order of input.

E. in the order of the key.                             
(2000 MC No.9)


	

	73. 
	Which of the following peripherals are output devices?

(1) Plotter

(2) CD-ROM Drive

(3) Scanner

(4) Hard Disk Drive

A. (1) and (2) only

B. (2) and (4) only

C. (1) and (3) only

D. (1) and (4) only

E. (3) and (4) only                                   
(2000 MC No.14)


	

	74. 
	Below are 3 storage media:

(1) Random Access Memory

(2) Hard Disk

(3) Magnetic Tape Drive

Arrange these in term of access speed, from the slowest to the fastest

A. (3), (2), (1)

B. (2), (1), (3)

C. (1), (3), (2)

D. (2), (3), (1)

E. (1), (2), (3)                                       
(2000 MC No.15)


	

	75. 
	Which of the following is/are true about a laser printer?

(1) It outputs high-quality hard copy.

(2) It is an impact printer.

(3) It operates quietly.

A. (1) only

B. (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)                                   

(2000 MC No.17)


	

	76. 
	Which of the following will affect the output quality of a visual display unit?

(1) Number of colours

(2) Resolution

(3) Memory size

A. (1) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)
(2000 MC No.18)


	

	77. 
	Which of the following is/are example(s) of the infringement of copyright?

(1) Peter downloaded a shareware from the Internet and continued to use it after the free trial period.

(2) When Mary submitted her assignment to her teacher via the network, the teacher’s computer became infected.

(3) Tom sold pirated software.

A. (3) only

B. (1) and (3) only

C. (1) and (2) only

D. (2) and (3) only

E. (1), (2) and (3)
 (2000 MC No.23)


	

	78. 
	The decimal number 3.375 in binary normalized form is

A. 0.11011 x 1010
B. 0.11011 x 10-10
C. 11011 x 1011
D. 11011 x 10-11
E. 1.1011 x 1001 
(2000 MC No.25)


	

	79. 
	Using 13-bit, 2’s complement representation, what is the result of -513-512?

A. 1000000000001

B. 1101111111111

C. 0111111111111

D. underflow occurs

E. overflow occurs 
(2000 MC No.26)


	

	80. 
	Which of the following tasks can be performed by a database management system?

(1) Listing customers who used mobile phone for more than 1000 minutes in last month

(2) Sorting students’ marks in descending order

(3) Producing invitation letters to customers

A. (1) only

B. (3) only

C. (1) and (2) only

D. (2) and (3) only

E. (1), (2) and (3)

 (2000 MC No.27)


	

	81. 
	Which of the following is/are the advantage(s) of real-time processing over batch processing?

(1) It is easier to set up the system.

(2) The hardware is cheaper.

(3) The information is more up-to-date.

A. (1) only

B. (2) only

C. (3) only

D. (1) and (3) only

E. (2) and (3) only 
(2000 MC No.27)


	

	82. 
	Which of the following tasks should be accomplished using an interactive system?

(1) Withdrawing money from a bank account through an automatic teller machine

(2) Sending bank statement to customers

(3) Booking airline tickets

A. (1) only

B. (2) only

C. (3) only

D. (1) and (2) only

E. (1) and (3) only 
(2000 MC No.30)


	

	83. 
	A company uses a sequential file to store the records of its employees. Which of the following statements is/are true?

(1) An employee’s record can be located using a sequential search.

(2) An employee’s record can be located can be using a binary search.

(3) An employee’s record can be located directly.

A. (1) only

B. (2) only

C. (3) only

D. (1) and (2) only

E. (1) and (3) only 
(2000 MC No.30)


	

	84. 
	In a school, Name, Class, Class_no are three fields in a file used to store student names, classes and class numbers respectively.  Which of the following can be used as the key field?

A. Name

B. Class_no

C. Class and Name
D. Class and Class_no
E. Class_no and Name
(2000 MC No.32)


	

	85. 
	To avoid network failure caused by the malfunction of a node in a network, which of the following network topologies should be implemented?

(1) Ring

(2) Bus

(3) Star

A. (1) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)
(2000 MC No.33)


	

	86. 
	program Q36;

begin 

     writeln(trunk(abs(-9.5)-2)div2)

end.

A. 0

B. 1

C. 2

D. 3

E. 4 
(2000 MC No.36)


	

	87. 
	program Q37;

var

x, y, z : string;

begin

  x := ‘10101010’;

  y := ‘10101’;

  z := x + y;

  writeln(copy(z,2,3) + copy(z,5,2))

end.

A. 00100

B. 01010

C. 01011

D. 01101

E. 01110 
(2000 MC No.36)


	

	88. 
	program Q38;

const k = 7;

var s : string[k];

   i : integer;

begin

  s := ‘legco’;

  case s[k-length(s)]of

    ‘o’:  i:=2;

    ‘c’:  i:=4;

    ‘g’:  i:=6;

    ‘e’:  i:=8;

    ‘l’:  i:=10;

  else 

    i :=5

  end;

  writeln(i mod k)

end.

A. 0

B. 1

C. 2

D. 3

E. 4 
(2000 MC No.38)


	

	89. 
	program Q39;

var x, y, z :integer;

procedure change (x, y, z :integer);

begin

  x := y;

  y := z;

  writeln(x, y, z)

end;

begin

  x := 1;

  y := z;

  z := 3;

  change(y, z, x);

  writeln(x, y, z)

end.

A. 231

123

B. 233

123

C. 311

123

D. 231

231

E. 311

311

(2000 MC No.39)


	

	90. 
	program Q40;

var data : array [1..6] of integer;

k : integer;

begin

  for k := 1 to 6 do

     data[k] := 7-k;

  k := data[data[k-1]];

  writeln(data[data[k]*k-data[3]]+data[k])

end.

A. 3

B. 6

C. 8

D. 11

E. 12 
(2000 MC No.40)


	

	91. 
	program Q41;

var i, j : integer;

begin

  i := 2;

  for j := 3 downto 0 do

  begin

    i := i + j;

    write(1)

  end

end.

A. 543

B. 578

C. 5432

D. 5433

E. 5788
 (2000 MC No.41)


	

	92. 
	program Q44;

var a, b. c : integer;

procedure p1;

var a, c : integer;

   procedure p2;

   var b : integer;

   begin

       a :=4;

       b :=5;

       write(a,b,c)

   end;

begin

  a := 4;

  c := 6;

  write(a,b,c);

  p2;

  write(a,b,c)

end;

begin

  a := 1;

  b := 2;

  c := 3;

  p1;

  write(a,b,c)

end.

A. 456456456123

B. 456453456123

C. 426453426426

D. 426456426123

E. 426456456123
(2000 MC No.44)


	

	93. 
	1st statement

In a microcomputer, the number of bytes required to store a Chinese character is more than an English character.
	
	2nd statement

Chinese character can be imputed by a combination of keys on keyboard.
	

	94. 
	                                                   (2000 MC No.47)


	

	95. 
	A computer company invites a famous chess player to play chess against a computer with high processing power.

This chess game is an application of ________.

A. computer assisted learning

B. multimedia

C. control system

D. artificial intelligence
(2001 MC No.1)


	

	96. 
	Which of the following is NOT an application of the Internet?

A. Electronic mail

B. Printer sharing

C. File transfer

D. Newsgroup 

(2001 MC No.3)


	

	97. 
	Mr Chan has submitted an electronic form for a job application through the Internet. In the field “Year of Birth”, he entered the current year.

Which of the following validation checks can detect the error?

A. Range check

B. Type check

C. Check digit

D. Control total 
(2001 MC No.4)


	

	98. 
	Arrange the following in ascending order of access time.

(1) floppy disk drive

(2) CD-ROM drive

(3) hard disk

(4) RAM

A. (4), (2), (3), (1)

B. (4), (3), (2), (1)
C. (1), (4), (2), (3)
D. (3), (4), (2), (1) 
(2001 MC No.10)

	

	99. 
	A data file of size 1.4 Mbytes is to be downloaded through a network with a transfer rate of 56 kbpes (kilobits per second). What is the minimum time needed?

A. 25.6 seconds

B. 51.2 seconds

C. 102.4 seconds

D. 204.8 seconds 
(2001 MC No.11)


	

	100. 
	Which of the following could double the range of a floating-point representation?

A. increasing the length of the mantissa by one bit

B. increasing the length of the exponent by one bit

C. decreasing the length of the mantissa by one bit

D. decreasing the length of the exponent by one bit

(2001 MC No.12)


	

	101. 
	Which of the following methods should be used to protect files from unauthorized access?

A. data verification

B. data truncation

C. data validation

D. password
 (2001 MC No.19)


	

	102. 
	Which of the following is/are interactive processing?

(1) using search engines

(2) playing computer games

(3) sending electronic mail

A. (1) only

B. (3) only

C. (2) and (3) only

D. (1), (2) and (3)
(2001 MC No.20)


	

	103. 
	A printer driver is a _______.

A. software 

B. hardware

C. disk drive

D. hard disk 
(2001 MC No. 23)


	

	104. 
	A teacher reads a good passage. She would like to make a few amendments to the passage and distribute the printout to her students. If she does not want to re-type the whole passage again, which of the following device/system would she use?

(1) a scanner

(2) a optical character recognition system

(3) a magnetic ink character recognition device

A. (1) only

B. (3) only

C. (1) and (2) only

D. (1), (2) and (3) 
(2001 MC No.24)


	

	105. 
	Which of the following error can be detected by a Pascal compiler

A. a syntax error

B. a run-time error

C. a logic error

D. an input error 
(2001 MC No.27)


	

	106. 
	Which of the following will make a computer program easy to read and understand?

(1) adding comment statements

(2) using meaningful variable names

(3) using indentation

A. (1) only

B. (1) and (2) only

C. (1) and (3) only

D. (1), (2) and (3) 
(2001 MC No.28)


	

	107. 
	Which of the following are considered multi-media elements?

(1) video

(2) text

(3) sound

(4) graphics

A. (1) and (3) only

B. (1), (2) and (3) only

C. (1), (3) and (4) only

D. (1), (2), (3) and (4) 

(2001 MC No.29)


	

	108. 
	The structure of a database file is as follows: 

Field
Name
Sex
ID Card No
Blood Type

Address

Size (byte)
35

1

12
2

50

What is the approximate file size if there are 50 records in the file?

A. 100 bytes

B. 500 bytes

C. 5 Kbytes

D. 50 Kbytes

(2001 MC No.30)


	

	109. 
	When changing a password, that is the purpose of entering the new password twice?

A. validation

B. verification

C. encryption

D. documentation 
(2001 MC No.31)


	

	110. 
	Which of the following is an example of a multi-user real time processing system?

A. a payroll system

B. a bank account balance enquiry system

C. a multiple-choice question marking system

D. an electricity meter-reading reporting system

(2001 MC No.32)


	

	111. 
	Which of the following can be found in an electronic mail?

(1) a file attachment

(2) an address book

(3) an instant messaging application software

A. (1) only

B. (2) only

C. (1) and (2) only

D. (1), (2) and (3) 
(2001 MC No.33)


	

	112. 
	Which of the following is a software?

A. a web browser

B. a CD-ROM drive 

C. a visual display unit

D. a modem 
(2001 MC No.35)


	

	113. 
	program p41;

var x : integer;

begin

  x := random(10) + 1;

  while (x < 1) and (x > 10) do

    begin

      write(x);

      x := x + 1

    end;

  writeln(‘END’)

end.

A. END

B. 678910END

C. 12345678910END

D. the output cannot be determined. 
(2001 MC No.41)


	

	114. 
	program p42;

var i: integer;

   s: string;

begin

  s := ‘ABCDEFGHIJ’;

  for i := 1 to 10 do

    s := s + copy(s, i, i);

  writeln(length(s))

end.

A. 10

B. 20.

C. 55

D. 65 
(2001 MC No.42)


	

	115. 
	program p43;

var x : array [1..4] of integer;

   y : array[1..4] of char;

   i : integer;

begin

  x[1] := 1;

  y[1] := ‘A’;

for i := 2 to 4 do

  begin

    x[i] := x[i – 1] + i;

    y[i] := chr(x[i] + ord(y[i – 1]))

  end;

writeln([4])

end.

A. J

B. N

C. Q

D. T 
(2001 MC No.43)


	

	116. 
	program p44;

var i: integer;

begin

  for i := 1 to 10 do

    if (i > 3) or (i < 6) then

     write(i);

  writeln(‘END’)

end.

A. END

B. 45END

C. 3456END

D. 12345678910END 
(2001 MC No.44)


	

	117. 
	program p45;

var x: integer;

begin

  x := 0;

  while x <= 100 do

    begin

      x := x + 10;

      case trunk(sqrt(x)) mod 2 of

       0: write(‘P’);

       1: write(‘Q’)

      end

    end;

    writeln

end.

A. PQPQPQPQPQP

B. QPQPQPQPQPQ

C. PQPQPPQQPQQ

D. QPQPQQPPQPP 
(2001 MC No.45)


	

	118. 
	program p46;

var num, err:integer;

   text : string;

begin

  text := ‘2001HKCEE’;

  val(text, num, err);

  writeln(err)

end.

A. 0

B. 4

C. 5

D. 2001
(2001 MC No.46)


	

	119. 
	program p47;

var a: array[1..12] of integer;

   k: integer;

begin

  a[1] := 1;

  a[2] := 1;

  for k := 3 to 8 do

    a[k] := a[k – 1] + a[k – 2];

  writeln(a[8])

end.

A. 8

B. 13

C. 21

D. 34 
(2001 MC No.47)


	

	120. 
	program p48;

var source, secret: string;

   e, d: char;

   i, tmp:integer;

begin

  source := ‘COMPUTER’;

  secret:= ‘’;

  for i := 1 to length(source) do

    begin

      e := source[i];

      tmp := ord(e) + 13;

      if tmp > 90 then

       tmp := tmp – 26;

      d := chr(tmp);

      secret := secret + d;

    end;

    writeln(secret)

end.

A. UXPRPBZC

B. IRELTBBQ

C. PEZCHGRE

D. VYBIRLBH

(2001 MC No.48)


	

	121. 
	program p49;

begin

  if not ((0 > -5) and (-7 < -5)) then

    write(‘1’)

  else if ‘z’ > ‘Z’ then

    write(‘2’);

  if ‘computer’ > ‘company’ then

    write(‘3’)

end.

A. 2

B. 13

C. 23

D. 123 
(2001 MC No.49)


	

	122. 
	program p50;

var a, b : integer;

procedure ONE(x; integer; var y: integer);

var m: integer;

begin

  m := 3;

  y := m + x;

  x := m + y

end;

begin

  a := 4;

  b := 5;

ONE(a, b);

  writeln(a:5, b:5)

end.

A. 4    5

B. 4    7

C. 10   5

D. 10   7
(2001 MC No.50)
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